Aufbau-Training Blatt 2

= Egee

AY:

(]
A A
L] i
2
b 3

[1] Schwarz am Zug

A Bl A °

= s

] E

¥ -

2 A

A s

'Y E
=

a b c d e f g I
[2] Weill am Zug

1

W Eoe

ﬁ
g b %‘, d ;

[3] Weilk am Zug

2 <

i -4 P
i
a1

A ;R

jd K3 B

A a9 & &

& 1

a b c d e f g h
[4] Weill am Zug

11

SIS o s

2 X
i W 1

2 J Py K

g R

a b C d e f a h
[5] Weill am Zug

8
)
6

E 2
b 3
1 ¢ :
W F

11 A :
A -

ARRS& ’

R g

a b C d e f a h
[6] Weill am Zug




Aufbau-Training Blatt 2

111 11
B ew K =

g f b

h e d c a a e
[111. ... De7! (droht Dxc2# und LxS mit [2] 1. Te5+ Sed 2.LxS+ Kh6 3. Tf6# (oder: 1.
Damengewinn) Tf6+ KxS 2. T1f5+ Khd 3. Th6+ Kg3 4.Tf3#)
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[3] 1. Lh3! (Dg5+? Lg6!) [4] 1. LxS (Hinlenkung der Dame) DxL 2. Ld4!
cxd4 3. DxD
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[5] 1. Lf6! gxf6 (h6 2. Dxh6 gxh6 3.Tgd+ Kh7 4.Led#) [6] 1. Te1+!! LxT 2. DxL+ Kd6 (2. ... Kf5 3.Se7+
2.Tg4+ Kh8 3. Dh6 Tg8 4. Df6+ Tg7 5. DxT# oder 2. ... Ke7 3. Sf6+) 3. De7#
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